ISA 225 Final Exam Fall 2020 Output Packet

Decision Tree for Questions 3 and 4

All Rows

Count G2 LogWorth
4977 5631.8252 182.96057

DemAge <45 not Missing
I

Count G*2 LogWorth
1235 1700.7983 45.510472

Count

DemAge > =45 or Missing
| |

3742 33472086 65.910695

G*2 LogWorth

DemAffl> = 12 not Missing ||DemAffl< 12 or Missing
I |( S— —

Count G2 Count G2
201 257.24217 944 1286.6098

DemAffl> =11 not Missing
[ E—

Count G2
895 1148.3797

DemAffl< 11 or Missing

Count G2 LogWorth
2847 1963.9676 24.22751

DemGender(F)

1441 1301.1963

G2 Count
1406 556.45685

DemGender(M, , U)




Models for Question 9
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Probability Tree for Question 17
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Regression Output for Questions 18 and 19

Summary of Fit
RSquare.

Requare Adi

Root Mean Square Error
Mean of Response
Observations (or Sum Wgts)

Analysis of Variance|

0.7854
0.7745
2704.52
14619.2
84

Source DF Sum of Mean Square F Ratio
Squares

Model 4 2114890296 528722574 72.2847

Error 79 577841325 73144472 Prob > F

C. Total 83 2692731622 <.0001

Parameter Estimates

Term Estimate  Std Error tRatio  Prob>|t|

Intercept -26075.74 2988.68 -8.72 <,0001

BagHandlers -1.161 91.626 -0.01 0.9899

Scheduled 0.405 0.143 2.84 0.0057

Canceled 4122 0.509 8.10 <.0001

Traveled 0.013 0.003 3.75 0.0003

Reduced model for Question 20
Summary of Fit
RSquare 0.7855
Rquare Adl 0.7774
Root Mean Square Error 2687.57
Mean of Response 14619.2
Observations (or Sum Wgts) 84
Analysis of Variance
Source DF Sum of Mean Square F Ratio
Squares

Model 3 2114889121 704963040 97.5993
Error 80 577842500 7223031.3 Prob > F
C. Total 83 2692731622 <.0001*
Parameter Estimates
Term Estimate  Std Error tRatio Prob>|t]
Intercept -26017.64 2971.831 -8.75 <.0001*
Scheduled 0.404 0.141 2.87 0.0053*
Canceled 4123 0.506 8.15 <.0001*
Traveled 0.013 0.003 3.90 0.0002*



Time series model for Questions 24 and 25

Summary of Fit

RSquare 0.9027
RSquare Adj 0.8888
Root Mean Square Error 6783579
Mean of Response 7563263
Observations (or Sum Wgts) 33

Analysis of Variance

Sum of
Source DF Squares Mean Square  F Ratio
Model 4 1.1954e+12 2.988e+11 64.9424
Error 28 1.2885e+11 4.6017e+9 Prob> F
C. Total 32 1.3242e+12 <,0001*

Parameter Estimates

Term Estimate Std Error tRatio Prob>|t]
Intercept -91812768 9993961 -9.19 <.00071"
Year 46207758 4973.962 9.29 <.0001*
Quarter 1 -3589263 3298572 -1088 <.0007
Quarter 2 -3152695 3400895 -9.27 <.0007"
Quarter 3 -3628909 3394068 -10.69 )



Decision Tree for Question 27

All Rows
| |
Count G*2 LogWorth
1114 94836199 15741242
Level Rate Prob Count
No 08483 08483 945
Yes 0.1517 0.1517 169
[ |
JobLevel<2 [JobLevel .
Count 642 orth Count G2 LogWorth
417 479.1386 11.498975 697 408.97297 3.4827092
Level Rate Prob Count Level Rate Prob Count
No 0.7386 0.7389 308 No 0.9139 0.9138 637
Yes 0.2614 0.2611 109 Yes 0.0861 0.0862 60
[ | [ 1
OverTime(Yes) OverTime(No) OverTime(Yes) OverTime(No)
| L | 1
Count G*2 LogWorth Count G*2 LogWorth Count G*2 LogWorth Count G"2
109 150.87665 3.5326168 308 279.68127 4.3752568 202 169.73021 3.1420645 495 226.34555
Level Rate Prob Count Level Rate Prob Count Level Rate Prob Count Level Rate Prob Count
No 04771 0.4803 52 No  0.8312 08312 25 No  0.8515 08515 172 No 09394 09392 465
Yes 05229 05197 57 Yes  0.1688 0.1688 52 Yes  0.1485 0.1485 30 Yes  0.0606 0.0608 30
|Age<34 Age>=34 MaritalStatus(Single) MaritalStatus(Divorced, Married) MaritalStatus(Single) MaritalStatus(Married, Divorced)
| I — | | n
Count G2 Count Gr2 Count G2 Count G2 Count Gr2 Count G2
66 82.564859 43 50.918244 113 136.49589 195 124.57078 56 68.752327 146 87.691582
Level Rate Prob Count ||Level Rate Prob Count | |Level Rate Prob Count |[Level Rate Prob Count Level Rate Prob Count |(Level Rate Prob Count
No 03182 0.3254 21 ([ No 0.7209 0.7228 3 No 0.7080 0.7091 80 || No 0.9026 0.9022 176 No 0.6964 0.6992 39 || No 09110 0.9106 133
Yes 06818 0.6746 45 |(Yes 02791 0.2772 12| [Yes  0.2920 0.2909 33||Yes  0.0974 0.0978 19 Yes 03036 0.3008 17 ||Yes  0.0890 0.0894 13




Decision Tree for Questions 28, 29 and 30

- RSquare

| RMSE N
gTraining 0.925 1269.913 1114;
Validation 0.928 1307.878 3565
|
All Rows
Count 1114 LogWorth Difference
Mean 64138986 §57.73592 878492
Std Dev 46496479
| |
Joblevel<3 JobLevel>=3
Count 823 LogWorth Difference Count 291 LogWorth Difference
Mean 41100948 2818774 273557 Mean 12904014 22,5207 722439
Std Dev 1763.9382 Std Dev 4116.0569
|
[ ] | |
JoblLevel<2 JoblLevel>=2 Joblevel<4 Joblevel>=4
Count 417 LogWorth Difference Count 406 LogWorth Difference Count 165 || Count 126 LogWorth Difference
Mean 27695899 21074872 206,084 Mean  5505.1626 2 53180456 444171 Mean 97759273 || Mean 17000317 46.664667 35975
Std Dev  729.69675 Std Dev  1402.5611 Std Dev 1861.6404 || Std Dev 22199488
| | | |
Department(Sales) ([Department(Human Resources, | [Department(Research & ||Department(Human Resources, JobLevel<5 JobLevel>=5
Count 63 ||Research & Devel ) Devel ) Sales) Count 79 || Count 47
Mean 25182381 || Count 54 Count 206 Count 200 Mean 15658392 ||Mean 19255894
Std Dev 669.38148 || Mean 2814322 Mean  5286.3592 Mean 573053 Std Dev 1693.4049 || Std Dev 488.31143
StdDev  731.7821 Std Dev 1385.7729 Std Dev 1387.3287




